o o o= =0 S S lv)
2 m|8dm m 2 =
m| 2|Eg| 2|, EE N
g m )Z> m m o
ol @m|I=E8 B|° = = o
) X |m O o = = (&%)
m |0 g [
= N C m ~ = (@) -
< B I T (@)
= 218 & 8 &)
z |13 =2 g
= S S
m
752 146,85 -
58 {14592 -
540 {14592 -
347 A 146,78
275 i
208 gy JHT10 14725 \
]% F147.07 147,18 147,33
076 147,08 - \
000 - 147,24 147,39
074 146,94 147,22 | u
085 147,10 146,87 147,37 I
146,83
175 85 1447,33
200 147,10 {14718
275 A 147,10 4147,25
308 - 147,03
525 146,90 -
sl zlzz] 2] = = 3
— dm o dm 4T @ D
m o |2 o [=] e & PN
g Alzml m|lo 2 2 -
2| @m|=48| 3|7 N
) X |m o o|n = = w
2188 ®H|l & =
ey < =& = 3 (@)
zZ|13 & s o
m = =
650 {14557 - /
560 144,85 - |
520 144,85 -
444 A 145,17
275 A 146,15 146,30
205 146,18 114623 \\
475 A 14588 146,38 I
440 146,14 {14589 {146,39
146,24 |
000 146,18 114628 {146,43
1,62 146,23
163 1145188 |146,38 ‘
175 ] ﬁg;g 145,83 14638
2,00 ' 146,23
2,75 4 146,15 4146,30
295 1 146.17
392 146,11 -
o A U 0 20 -U
S| RIBE| B| =22 @ =
m o [Tl © & 5 & PN
@ = = = = o =
r< m|=Zm m[Bg2g 2 -
9 =4 |Z w - |[To =Z° :
@ m(E3| =7 = O8]
o X |mo o(n = = ~l
TIRE| m|lpEE X2
Sl | 31BsR 8 o
= 2|Ssn ~
=38 5 = —_
= Lo o
m xS 3
3 N
698 {14530 -
550 _
532 A 145,32 145,37 —
427 A 145,92 146,07 - -
\ \\\
146,00 (A
327 145,65 714615 \
273 146,03 - ]
|
|
133 A 145,70 146,20 |
|
053 146,06 - |
000 145,74 {146,24 :
|
|
148 146,04 {14570 146,20 |
175 145,69 114619 :
146,04 T
[
275 145,96 146,11 L |
323 - 145,79
350 {14575 -
O U O
s| R|38| g| £z M
— o T =]
ol 2I=Z2| 2 22 2 A\
5 m )Z> m m g = -
q — [92) 0 |. E}
gl Z158| 8w 2z R
T18S| §lo=23
2| ZlgErY P
= | 2BLsE
zZ 3 322 o
m )
589 146,10 -
2% 146,14 L
275 A 146,13 146,28 —
|
i 146,21 | |
75 145,35 7146.36 i
|
078 146,17 145,89 146,39 1
|
000 - 14591 146,41 :
|
|
116 146,14 i
| 145,86 | |
1,75 14gq 714636 i
|
2,75 |
300 146,10 146,13 146,28 ] —
302 146,10 1610
0T U O
s| B3Rl g| ¢gfzg 2
— =] =]
| 2|28 8| 28 % N
ol Tl1Eal Tlu =
. : E}
m 39 Sl= =323
cglg=| 38 =27 O
= | €18 sgs ©
=15 823 >
A ER
30
298 314525 1 145,25
75 {145.26 {14526 - 14541 ||
[
A5 1iods 14549 | |
]ﬁg 145,26 {14500 145,50 —
|
036 14529 ‘
000 A 145,04 -{145,54 |
|
080 145,30 145,02 14552 \
120 414545 ‘
14499 | ,
175 - 145,34 714549 L
236 {14559 - |
275 - 145,26 145,41 1
301 - 145.23
414 {14462 |
454 414462 - \
570 {14528 - |
624 114530 -
v U O
S| B|BR| B| Z28°¢ U
m| ©|2C| © ER=R= PN
@) Z | = Z|lg = = = ’
5 m )Z> m m |. =
173 m|=9B 2|° 2=z= oo
o X [mo o |n ER —_\
2IRE ®B|l 238
S| 3|8 17 0
= = %’ IR
= 223 (@)}
m 53
349 145,00 -
207 145,03
275 A 145,02 {14517 m
[ |
AT5 14510 114505 '
50 414510 {14475 ’ i
24 14504 14477 {14527 , r
|
|
0,00 145,00 144,80 145,30 I
|
|
|
17 14475 |
=145,06 4,71~ 4145 25
35 Juaso {14810 I\ )
) \/
275 14527 145,02 {14517 -
383 {14445 - 144,45 - i
423 {14445 - \
521 414507 - |
554 145,07 -
T O el
S| BIBR B| £ & 2
mlelsgl gl 88 8 020X
ol ZIED 3R 2
: o 3
8 3 % 8 8 nos ?, é (\Dl
Z|IRE| @l 5 B RN
Sl 28 g0 ¥
= S8 28 g N
r% S g8 3§ O
337 {14497 -
276 | {14497
275 144.83 114408 i
144,91 I
A5 A 14455 714506 i
|
083 144,98 114459 145,09 i
|
000 - 144,61 145,11 :
|
098 14502 - ‘|
i 144,56 | |
1,75 4491 114506 i
|
275 114498 |
287 7 14483 714506
386 145,08 -
568 114520 -
3 |z[2[37]z] ¢ |3&
i & < zo|® 23 g%
= |2 58
= 8 |
23 32 32| 7 B iz |\3 |
Sl S5 1B ErE 588 |8 !
SN 8& gl |9 z38(Qf¢e I
33 33 2083 333 |QYs I
Szl 83 g5 |3 z€g |l
Sg| S48 2elgd “s¢ 222 T T
Sgl 82 | 12| ° g 3if|si® o .o
S od e ld #9lEid =
g = lzg|g 2=|82%2 = Z
g c N} % é’g N;ro_ < 3
3 38 |8=§ 3, =
|| 8 SN (320 )
I 1 oy
g "¢ |£8 5 «Q
é D & =S
: ;%’g =
SIMHMUEE
=T TS (822
Nlel |8l |223
= 5| |26

o O
o o |o x| = g & U
° | HIBR| A B8 8 =
m oo [=] = = PN
@ = = =
~ m|Zm m [ O "
| #IZ8| B|° == LN
[} X |m O o |n L = ~
m|xo g S |~ S ©
Z N C m | = 5 ° -
= Jloo = 4 (@)
= S8 g8 )
= |3 S 3
=
m
603 4147417 -
-3,05
290 147,53 4 147,52 -
27 7 14747 114762
213 147,49
A7 147,55 4147,70
042 414745
000 A 147,60 147,75
090 14748 {147,57 \
1,03 4" 14722 147,72
1,50 147,68 14720
175 14755 7147.70
250 i
275 1M 0 J1re I
2,81 1 7147,66
595 147,50 -
o X | T o 0 § § U
= o 8:’?‘1 o = 3 p—
ol 2SS €|l 2 2 AN
ol Tz Tlo
. - —
| 2|8 B|w E =
mizo| sl X 3 ~
gy < x| T © (@)
2 [ 4o -
= g8 = 8 =
z=2 & 3 O
m
6,35 414579 - /
545 414,95 - |
500 144,95 -
374 145,47 - —
275 145,98 146,13 \
2,33 146,06 -
146,06 ‘
475 14571 146,21
450 146,01 114572 146.22
146,07
0,00 14597 146,12 146,27
146,07
162 ligp o1 J145.72 {146,22 . Lu
LTS 446112 414571 146,21 }
1,85 146,06 /
275 | 146,13
280 714610 114598 11610 /
388 146,00 -
o o |©w | = gz 0O
2 &|3m m S —
ol 2|1SE| 2l 228 A
E_) m :Z> m m |. =
ol #IZ4G 3|3 =z= W
(@] X |m o ol 8 == w
mixg S = = 2 3
g |8 < =& s v o ~
= S 2 2L oo
= s Lo
= § () w s ~
xS gis O
m B
647 414543 - /
545 414,79 - |
505 414,79 -
430 145,18 - -
275 414598 146,06 {14621 —
215 146,10 | }
183 1146.02 {146,114 | ]
A75 " 14579 7146.29 |
|
064 146,04 - |
|
000 A 145,84 146,34 |
| /
|
1%‘71 145,86 145,81 146,31 —
175 =14602_145,79_14629 | \\
1,80 Ve 146,14 ’ |1
|
275 146,06 146,21 L
322 145,90
375 414585 -
s| B3Rl & oo o O
= m | om m S o o
m o | [=] o2 > TN
@ = = = o T o
= m|Zm m [.9 g2 2 -
| m|=8| B|° = EaN
Sl 288 2l EEs XX
gl 3|15 223 ©
= 2|8 17 O
=3 <gg O
m § 2 3
617 414560 -
344 414572 -
300 145,76
275 1 145,77 145,92 7 \
22 414583 4{—} i
480 114585 | /
A5 71070 44550 114600 |
|
068 145,54 146,04 |
|
000 i .
09 Juuses {14556 714606 |
|
|
1,75 145,50 | I
[
275 145,77 414592 -
321
2 60 - 145,62
T U O
s| B|BR| B| gz =2
S
Bl 2|2E| 2|, 222 A
S| ZIEa| B|o 3
gl 3128 Blw 252 <&
mlxg < = - =<3 (o]
E|o €< A = =77 N
=X ~ S o o -
= 218 25352 O
zZ|12 83 OO
= SN
384 146,00 -
302 146,07 - L
275 146,10 4146,25
250 146,12 1 |
|
1 146,18 | |
75 1453 714633 | i
||
|
030 146,16 - |
000 - 145,88 146,38 |
027 146,13 - ,
|
166 |
, _ 114583 |
175 7101 ragrp 714638 ,
|
209 {612 {4610 114028 _—I
o0 714616 ] 5 F———
517 4146,10 -
U U O
s| z2lzg| & g2 U
m| C|2C| T B8 BB PN
@ =Z | =2 = = = = ’
= m|Zm m |9 =
Q X |m O O |n D = =
2188 Fl= 228
S O
(= g:) 5 N 5 1" _l? -
= % S & = —_
=12 829 S
m S5
371 414515 -
305 A 145,18
275 145,23 145,38 -
I
475 14531 | I
450 Jyasp {14406 114046 I
421 14522 {144.98 {14548 -
1,20 I
|
|
000 i
o 14529 {14501 {14551 .|
|
|
144 14530 {14497 {14547
175 A 14496 1445 46 |
14531 |
[
275 145,16 114523 {14538 L
384
388 714463 1 144,63
4:14 '144,63' \
501 414536 - !
530 145,36
0T U O
s| zlzr] g| FEF =
Bl 2lEg 2|, 222 A
5 m jZ> m m |. =
| @9 BT 8z O
o D [mol ©|n ERA w
Do g S = - <B
ZIRS| T8 €7 O
< Sl 2= T
m [3¢)
340 414,90 -
304 144,92
275 144,97 414512 =
||
475 145,05 | ||
50 Jasoo J1aaro 114920 |
A3 14496 144,71 714521 f
|
|
000 A 144,75 145,25 ||
030 14504 - i
|
|
168 14497 114470 |
175 714500 145,05 114520 |
[ |
275 | | i L]
o7 145,03 {14497 145,12
S (TFT E (PP YR -
440 144,24 \
537 414,85 - 1
564 144,86
—
D
(@)
D
=
O
2 g 0
S ©o. o
0 X S
C O
3 7 =
= =.
=~ @
w 4= =
S N
X O
K
L 3,
o

2 B(3& o s 2 =
ml2lEg| 2|, & B N
E_) m )Z> m m o
124 m|=S% 2 | = = (@)
(] &2 |lmo o|n = = -
< Jle v ¥ o
= o o =)
= =S|S g 5
= (B = =4
= S 3
m
680 147,22
520 146,45
480 146,45 -
32 | i
310 147,35 147,35
275 147,43 147,58
475 11;?; {147,66 \
) i 114718 |
122 147,34 {17718 147,68
000 147,57 147,72
044 147,36
175 A 147,51 147,66
210 147,39 -
275 147,43 147,58
301 A 147,41
500 14745 -
O o
S HNIBR W 8 8 —
m o & o o = = PN
@ = = = 4
= m )Z> m m [-O
ol @IZESG B|Y E = N
o X [m o o (n 2 = —_
Z2I1RE Bl © S
c |o <« = a n " \l
< ol = =8 y
S E @
=
m
704 146,13 -
530 414533
490 414533 -
416 14571
275 146,50 146,65
228 146,67
475 i
- 114655 1146:58 {14673
000 146,51 {146,63 114678
146,59
139 {14655 114624 {14674 Y
175 1671714623 146,73 '
, 146,58
275 | 146,65
276 146,50 146,65
475 146,55
O U O
S o o
S| BIBR| B| === LS.
m S |28| S 222 PN
() = = =Z g = ’
S| DIEa| 3| 3
~ - =2. =
&l B3| Bln ZEZ N
ZIRE| Gl 3%
c cj-:) < 5 t § n -I? m
ol Eoe -
= | 55 §3% o
m ~
707 414549 /
572 144,98
530 144,98
344 145,65
275 14596 146,11 R
212 {14613 - ! \\
’ " 46,04 A
A5 14560 7146.19 |
420 146,06 414571 146,21 i
|
|
000 A 145,74 146,24 . ’
046 14597 - |
|
| \
175 145,69 | |
202 146,10 146,04 1619 T
225 -{146,15 | ,
275 | 146,11 !
276 145,96 114611
396 146,00 -
T U O
sl gl3g) 5| £8¢8 2
— _8 o O
D 2lEg 2|2 & s 2\
5 m :Z> m m .0 =
o A% BT == S
Q X |m O o3z &= N
o3 g Sl=-s 23
E|la*“ = |8 = T o w
== == 4 -
= g8xgz
> B 33 N
= 3 ~
m [3)
648 414535
390 145,36 -
277
275 14600 {14583 {14k —
271 ' L
| 14591 | |
A75 1455 114606 |
|
056 146,03 414560 146,10 ,
000 145,61 146,11 :
056  4146,00 ,'
|
|
1,75 1 145,56 | |
o0 14594 J1as91 114606 ]
225 414590 - — I
275 145,83 145,98 L |
307 145,77
335 14572 -
o 0o O
S| BIBR| B| f:f 2
m g |=eg| g - = 22 X
5 m )Z> m m |. =
o> @8 2| S =z= O
Q| m|moO| ©|mn 2 52X QO
Tlzg &|= s <3
E|a“ = |& s 7m® O
x =" F o4 -
= 218 s g2g 00
= |3 2333 O
= 3 e}
m 3]
553 146,40
332 ] TR Ly —
D50 Jueag {1680 —"l |
| 146,53 | [ |
A75 1401 114668 |
|
070 146,52 |
o4 14647 {14622 14670 —— 1 ‘—
000 146,23 146,73 :
081 146,52 - !
|
146,18 | |
175 A 14853 714668 ,
§§8 146,47 T
, 114652 -
275 146,45 146,60 L
2,92 7 146,49 I
348 {14645 -
O U O
s| glzg| | g€g2g T
m| S22 S| BBEB X
@ =Z | 2 Z |g = = = L4
5 m )Z> m m o =
& m =9 3 |- 2 == ~
] D |m o omnm s x> = ()
mlxgl |22 X
E|IB-| F|BE?PS ~—~
T = = " o -
= O o g 2 o c)o
= P o
=S558 ©
& s~
-3,30
: 114520
308 520 145,21 '
57 145,25 114540 B \
%gg 114532 | -
-1, 7114528 145,33 | I
A5 144,08 114548 |
420 145,00 145,50 :
065 {14530 - :
000 145,04 145,54 :
060 414526 {14502 414552 e
1,00 414530 - I
144,98 | !
1,75 ' 145’33 T 145,48 | |
[ |
2,75
, 145,40 | |
2,83 = 145'35 n 145,25 T ’
e 14535
429 144,65 |
469 144,65 - \
580 145,10 -
s| ®lzr| g| 23 =3
— A7 (@ X1l AT - - -
m| 2128 2|_88 8 A
~ m (=< m m|-9 = E
o 4| Z » - |To0 E
)iy m|= 73 D |- 3 oo
] X |m o oln 5 £ = ~
TIRE B2 =
glg| 38¢g3 &8 »
= eE8Eg g W
= 3 =3 g »
m =] N
)
334 414,90 -
291 144,92
275 144,88 145,03 ™
Ly
i 144,96 | ||
A75 14461 114611 ‘
TH qiires 14463 {14513 ; 4
|
000 144,66 145,16 |
044 144,98 - :
|
175 |
, 144,61
188 714491 {14496 114511 =N
2,10 145,05 | \I
270
275 414512 144,88 - Eggg |
2,80 * /
410 144,29 |
450 144,29 \
544 144,89 1
560 {144.90

| BIEXS
Z YBuIopo - auzoszidod aloiyezid

00}




